Disrupting
the
Internet




Why?

 Decentralization is good.

 Technology convergence.
- Processing power.
- Storage speed.
- Bandwidth.

e Because you can.
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What

» Alternative search engines.
 Alternative social networks.

* Alternative user services.
- Secure emall.

- Single sign-on.

- Advertising exchange networks.
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How

A Ryzen 9 server in your closet can:

- Index 50M+ pages

- Run a social network for 1000+
members.

- Run a secure email service for
1000+ accounts.

Run an ad exchange network
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How

e The software to run all these
services IS

- Available

- Free

- Open source
- Well tested.

* You have to learn some new
technologies.




What if ...

* Their Al is useless without your data.

* Their tech cannot compete with your
collective human intelligence.

» After you leave, they will beg you to
come back.
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